Ostwaldcolours (o) Y\y~88,6
o525 max (m) chromatic value, AOO
Mig the chromaticity diagram (X0, Y10)
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X,=98,46Y,~8859.2,~31,18 B,

Xy=0,4511y,,=0,4059 40
Ao= (80~ 3g,) Yag (VY19 M3
Bo= (b~ bo,) Yag (VY1913
89 = ago [x/Y] +
by = by [2M]
30=1, by=-04 70 |75 42 A
1 1 1 LD
n = A0O —40 ' 38 &' 40
17
1 -
Ostwalddolours (0) Y\)=88,6
max (m)hdnatic value, AOO
chroma (A*p 10, B*0.10)
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X,=98,46Y,~8859.2,~31,18 B,
Xy=0,4511y,,=0,4059 20
A= (@ —ar ) Yig (VY1913
B1 = (by ~ by ) Y1g (Y1913
a; = ayq [(x—0,171/y] 1
by =byo [2M]
80=1, byo=-0,4 70|75 42 A
mp1=1,000,br;=0,171 ) ) M
n = A00 —40 ' 2 389 20
17
1 ¢
Ostwalddolours (0) Y\)=88,6
max (m)hdnatic value, AOO
chroma (A*; 10, B*110)
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X,=98,46Y,~8859.2,~31,18 B,

Xy=0,4511y,,~0,4059 a

Ap= (@ = ay) Yig (VY1913
Bz = (b~ by, Y15 (Y1913
ay = a0 [(x=0,171)/y] 4
b,=ba0 [(Mp1x+bp1)/Y]
ay =1, byp=-0,4

Mp;=-0,157 bp;=0,385 g
n = A00 —40 A i
13

Ostwaldcolours (0) Y\)=88,6
max (m) chromatic value, AOO

7S 42

chroma (A*; 10 B*210
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X,=98,46Y,~8859.2,~31,18 B,

Xy=0,4511y,,=0,4059 0

A3= (a3~ agp) Y1g (Y/Ym)lg
B3 = (b3~ by Y15 (Y/Y19)™

ag =ay [(x-0,17D/y] 4L

b3=ba [(Mp1x+bp1)/y]

ay =1, byp=-0,4

Mp1=-1,344 b, =0,781 70
n =A00

Ostwaldg
max (m)T

olours (0) Yy\=88,6
Ehéfnatic value, AOO

chroma (’

A*310 B*310
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X,=98.46,Y,,~88,592,~31,18 B,
X=0,4511y,,=0,4059 +40
Ay = (8~ ) Yag (VY19 M3
By = (by — by ) Yig (Y/Y19 13
8y = a0 [(x-0,171y] 4L
b=ba0 [(Mp1x+bp1)/Y]
aso=1, byo= ~0,4 20|75 4 A,

mp1=—0,157 bp,=0,385
n = A00 -40 6 3; 40
1 17

Ostwalddolours (0) Y\)=88,6
max (m)hdnatic value, AOO
chroma (A*410, B*210)
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X,=98,46Y,~8859.2,~31,18 B,

Xy=0,4511y,,=0,4059 440

A5 = (a5 —a5.) Vg (VY1913
Bs = (bs — bs ) Y1g (Y/Y19)L

a5 =ay [(x-0,17Dh] 4L

bs=ba [(Mp1x+bp1)/y]

ay =1, byp=-0,4

Mp1=-1,344 b, =0,781 70
n =A00

Ostwaldg
max (m)T

olours (0) Yy\=88,6
Ehéfnatic value, AOO

chroma (’

A*s10 B*510
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X,=98.46,Y,,~88,59,~31,18 B,
¥=0,4511y,=0,4059 1
Ag= (86~ 3g,1) Yag (VY19 M3
Bg = (B ~ bs) Y15 (/Y19 /3
g = ago [x/Y] i
be=ba [(Mp1x+bp1)/y]

ax=1, byo= 0,4
Mp1=-1,344 b, =0,781 70
n = A00 -40

13

Ostwaldcolours (0) Y\)=88,6
max (m) chromatic value, AOO

ka0
42
75
As
L 40
F-40

chroma (A*g10, B*6.10)
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